BEEDERD DHRMx - ARE

T T . T s [ T
e |* =) N e s et

= B 0 B W= (BEADES)

BRI

TR

A e L
Ik 9:00 | 17:30 | 0:45 7:45 :

L1 13 BmM## (D) (A) 100:45 i (A") 0:00
TREOEBYEBBLE-CLEMBALET. RS e Kt -:
[BIREDEHE]

@ wROBEE (A) [ W] x (B ff Al = 0 m (B)
@ HEDBE 111, 216°

@ B EBETEAE W) 0.0 pspa] x [B@ - H] = 0l (C)
@ BT - AEOBE (D) [ 13 B8] x [Bf Al = 0

@ «» BHORE , R
@ BXEH|

(B) + (C) + (E) = 111,216 @ (F)

(R (RTIGHE-HERE 0OHHA]
(F) —[  _* 1,387 M©@1 @85  SE5., FRESEAREE =
ERSHEEEMIBRBLELE,

&®M 5% 108 31” -

109,829 M (H)

& 109,829 A 1)

E %
[(BEFRRTLEOHHA]
O #5 BIHEH) [ 99, 470 Ml x [iEn=E 70 9] = 76,880 M (1)
O gRusERAIAEG [ | Ml x [#Ea® 0 %] = 0/ (J)
O HiEkE (G) [ 1,387 A1 x [#EaE 0 %] = 0 A (K)
O BEBEFHRTLBOH ‘ (1) + () +(K) = 76,880M

-156-



BHEDES DHRm - RE
2023 H@m B WAL |DRE DIRE= OZOm
soe | = ¢ | I | 5" s
BB BB WE (BMADES)
B |RE
posssnl | mTmw | JAEE | et | sssn | g7

LB

31 | % sl 5 R iied N
Bt C 13 BMEE (D) (A)| 100:45 H (A")
LtEREOLEYBBLL-CEEMBALET, WMAS L& Bt -:
[BZREOEHE]
D mgoEmeE (A) [ BEf] x (B4 Al = 0 H (B)
@ BEOBE . 111,216
@ BMAOETLYE W) 0.0 wmA] x [Biff (Al = 0A (c)
@ AHFY - SHOBS (D) [ 13 81 x (@ A] = 0 M ()
[E) A#HDBE |
@ fexiasm (B) + (C) + (E) = 111,216 B (F)
[RXiGHE (BEHRE-HRRE OHHE]
(F) =L 1,387 m@®] (FidH - £RH, RRESEAQEH = 109,829 8 (H)

M

ERSBEEEMNMARBLELR,

£ 109,829 (H)
(EHEM RSO »
O #5 RXBW(H)L 99,470 MIx[EAE 1700 - %] =
O FEusERAIASAG. [ M1 x a5 0 %] =
O HERE (G) [ 1,387 M= [n®E 0 %] =
O BHEMRI LMOH (D + (D) + (K =

S 5% 108 31H
ety

76,880 M (1)
0m (J)
0 (K)

76,880 A




BEZDES DHEME  ANE

2028 ZE@m AL |ORE OEHE- OZ0f)
11 5% E %) N | = 5 Dieasoncs
E OB O OB e (R EEE)
B @R
msssn | #Ten | (JBE| pawmme | mmsm | RTRE | omEN
1]k 9:00 ] 17:30 [ ﬁ 7:45 SR '
2] R U O0G RN/ 80 [ 46 | 745
Il = S T
6| A [T 9500 I 730 [F 045 ] 745 ek E S
8 | & 9:00 | . 17:30 | 0:45 7:45
NEIET R
10| &£ | 9:00 | 17:30 |  0:45 7:45 :
13] B | POl S 7Es0l [0S 7:45
15 | K e B CREE T MR T 7:45
16 | &k LSRRG A i
17| & 500 i T30 | oan 7:45 |

20| A | 9:00 | 17:30 | 045 | 145

TRIER 9:00 | "17:30 0:45 7:45
30 | kK b
L1 13 BMEF (D) (A)| 100:45 & (A") 0:00
TEREOLBYEBLLCLEHBLET, BmA% ZE Kt -:
[BFREDHHE]
@ BROBE (A) [ M1 x [ B Ml = 0 g (B)
O REOEE : 111, 216
Q@ BMABBFLE W) 0.0 mMllx (B Al = 0m (C)
@ EMFY - BUOBA (D) [ 13 A] x [H{fF Ml = 0
® » REO#e i
@ B (B) + (C) + (E) = 111,216 | (F)
[EXBE (LR —-HERE 0]
(F) —[ 1,387 A@] (Fia%e - (EEM. REEBWAARBM= 109,829 A (H)

ERSBEEREMCHERBLELE,

£ 109,829 m (H) | $71 5% 118 308
' B 4%

(RBEEHRITLEDHA)

O #5 =XLKEMH)[ 99,470 MIx[Ea 70 %] = 76,880 A (1)
O £nEsEREAEE [ '-; O HIx[EReE 0 %] = 0 (J)
O HizlE (6) [ 1,387 m] x (= 0 %] = 0A (K)
O BHEMRIEXNEOH ' (1) + (J) + (K) = 76,880 M

-158-



BREEDES DA=ms - e
ANB T Eaw R B | B0 |ORB OEHA- Diom |
e = = | 0 s
E B OB B w5 (BRI EBF)
B |mAa
msamsn | wTEE | AES | mmem | mmwn | mTES | asnmg
T]A&] 9 Ty T T 045 | 7:45 t0 ¥y
2| XK . 0:45 7:45 e
AT e
, R
6| B i 34 FRERY
7] & T 1 045 7:45
8 | A [T
91 & | 900 | 17:3 - 0:45 7:45
10l & | 900 | 17530 | 04 7:45 |
13| A RS Py
14| x| 9 T 045 7:45
TR & e
16| & | 900 | 17:30 | 045 7:45
7] & | 0000 [ "17:30 | 045 | 745 __
il - enE
20| A | 9:00 [ 17:30 | 0:45 7:45
AR e T 7:45
wT AT T e
FE: B i
ﬁ ¥ ,‘ ......
28 | & 9:00 | [17:30 - 0:45 7:45
A T T
30 [ A 900 [ 17:90 05 7:45
i 13 BmMEBE (o) (A)| 10045 # (ADT 0.00
tROEBYHBLE-CLETBLES, MRS =i
[BEHEDiHE] : '
@ BEOBE (A) [ BERA] ¢ (B Al = -
@ AEOBE ; 111,218
@ HMABBETYS W)[ 0.0 B5AA] x [BifH M) = 0M (C)
@ EWFY - BHMOBA (D) [ 13 B] = [Biff Al = 0 M (E)
@ v RAHEOBS
@ @3 ' (B) + (C) + (E) = 111,216 A (F)

[(RXiGE (BXBE-HZRE) OHA]
(F) =0 - 1,381 B@] (Mm% - GRE. RRassAfE®= 109,829 @ (H)
ERSWRERENMFRBLE L.

& 109,829 m (H) &% 5% 118 308
E &

(BEEHRELEOHAE] |

O 5 REREH)[ 99, 470 M1 x [{&y= 70 %] = 76,880 M (1)
O grysERTaEE [ Ml x [#Ea=x 0 %] = 0H (J)
O HiERE (6) [ 1,387 HIx[Es= 0 . %] = 0/ (K)
O BREEHBRALEADEH : (1) + () +(K) = 76,880 M

-159-



" 9:00

S

RSEBER Dp=fme  ANE
2“23 QE(EEE) ﬁﬁ&@ Uﬂﬁ-‘éﬁﬂiiﬂﬁ“ Df’ﬂ)i&)
280 | = % |3 oeoe o
B B B = (BEAEEE)
B H
i) [N — é’gﬁﬂ BTSRRI | BOIARSRY | & TR | ehEEESES
11 & ] 9:00 | 17:30 [

4| H 17:3
5 &k 9:00 17:30 0:45 7:45
6| K
IR 9:00 17:30 0:45 7:45
8| &
1| B 9:00 17:30 0:45 7:45
12 | X 9:00 17:30 0:45 7:45
13 | Xk
14| XK 9:00 17:30 0:45 1:45
15 | &
18| A 9:00 17:30 0:45 1:45
19 | K 9:00 17:30 0:45 7:45
20 | 7k i
21| K 9:00 17:30 0:45 7:45
ﬁ -
A
26 | 9:00 17:30 0:45 7:45
27 | k& 9:00 17:30 0:45 7:45
28 | K :
29 | & 9:00 17:30 0:45 7:45
&t 13 _EmMBE (D) (A)| 100:45 B (A')!  0:00
LEDEBSYBB LI LEEBELEYT, HMAA —ZE "t -
[icEnetH]
@ BisoZe (A) | B x [BL{E Ml = 0 o (B)
@ AE0Be 111, 216
@ BMABEELE )] 0.0 B5RI] x (B Al = 0l (C)
@ EIFY - BHEMOBE (D) [ 13 B] x [Biff M1 = 0 (E)
@ »~ BRE0OSSE ¥
@ BXRE (B) + (C) + (E) = 111,216 A (F)

[RXGEH (RIIBE-HI2RE) 0itH)

(F) —I[ 1,387 M6)] (Fi8% - ERB. REHSAARED = 109,820 A (H)
ERSEEEMENRHLELE,
& 109,829 m (H) wh 5% 128 o8
K &
(BB EHREFTLEOHHE]
O 5 |IXHEH)[ 99,470 mIx [Ep= 70 %] = 76,880 M (1)
O BRUSERZREME ( MA] x (o 0 %] = 0M (J)
O EERE () [ 1,387 Ml x o= 0 9%] = 0H (K)
O BBEHETLEOH (1) + (J) + (K) =

76,880 A

-160-



BBEEHES DH=mx - BNe

2023 Fmm ' B | #Eco [DRE OERE- OtoB

12 a5 | = | [ "5 et

E B O OB % (FMABES

B |EB hEE

BIRESR | MRTEA | ppcpeps | EVESESRAN | BHAAESRR | WTEZ | BEEM

1| & 9:00 17:30 0:45 7:45

41 R 9:00 17:30 0:45 7:45

5| K

6 | K 9:00 17:30 0:45 7:45

T XK

12
13

17:30 0:45 7:45

EIEIERS
w0
=]

|33 5% |m|
5

20 17:30 0:45 7:45

21 '

22 9:00 17:30 0:45 7:45

25 | B 9:00 17:30 0:45 7:45

26 | X

27 | & 9:00 17:30 0:45 7:45

28 | & 9:00 17:30 0:45 1:45
&

tROEBVMBLI-CLFHBALET. RS

(MXHMHEDHHA]

O FHROBE (A) [ B5fE] > (B A Al = OFJ (B)
@ B#EOEE ' 111, 216

@ B BETFAE W)I( 0.0 B$RA] x [H{H Al = 0 M (C)
@ WEFY - BHOBE (D) [ 13 8] = [Hfi Al = 0 M (E)
@ # BHOBE

@ XA (B) + (C) + (E) = 111,216 B (F)

[R3THEE (MG —HIERE) 0itH]

(F) —[ 1,387 A@)] (%% - ERE. BRESEAAEE = 109,829 M (H)
EREEEEMIBARELELE,
£ 109,829 m (1) B 16d b
= s [
[(BEEHEFTLEOHH]
O 5 =AW (H) [ 99, 470 A1 x [Hu= 70 %] = 76,880 1 (1)
O gREsERzafEE [ M1 x [k 0 %] = 0m (J)
O #iZr&a (6) [ 1,387 Bl x [#EoE 0 %] = 0 (K)
O BEEDBRAELEO (1) + (J) +(K) = 76,880m

-161-



